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Question Bank

1. Consider the function . Find the 

Watch Video Solution

f(x) = x2 + x lim
x → 1

f(x)

2. Evaluate 

 where lim
x → c

f(x)

f(x) = anxn + an − 1xn − 1 + an − 2xn − 2 + .... . + a2x2 + a1x1 + a0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6gQLOHt3AWuL
https://dl.doubtnut.com/l/_TuhEWGyR1zqg


Watch Video Solution

3. Find the following limits : 

Watch Video Solution

lim
x → 3

(x2 + x + 1)

4. Find the following limits : 

Watch Video Solution

lim
x → 2

{(x − 1)(x2 − x + 1)}

5. Find the following limits : 

Watch Video Solution

lim
x → 4

{(x − 1)(x − 2)(x − 3)}

https://dl.doubtnut.com/l/_TuhEWGyR1zqg
https://dl.doubtnut.com/l/_WTTkEMOUs5DE
https://dl.doubtnut.com/l/_h3dOFMh4GjLE
https://dl.doubtnut.com/l/_Mo70wpiMjLMt


6. Find the limits : 

Watch Video Solution

lim
x → 1

{ }
x − 1

x2 + 1

7. Find the limits : 

Watch Video Solution

lim
x → 1

{ }
x2 + x + 1

x3 + 1

8. Find the limits : 

Watch Video Solution

lim
x → 3

{ }
x2 − 3x + 9

x2 − 9

https://dl.doubtnut.com/l/_OfrRKUJwVA29
https://dl.doubtnut.com/l/_bsbkRoe7f0Nr
https://dl.doubtnut.com/l/_jlEoTuLg91sE


9. Find the limits : 

Watch Video Solution

lim
x → 2

{ }
x − 2

x2 + 4

10. Find the limits : 

Watch Video Solution

lim
x → 0

{ }
√x − 1 − √1 − x

x

11. Find the following limits : 

Watch Video Solution

lim
x → 5

{ }
x9 − 59

x − 5

https://dl.doubtnut.com/l/_677P4GvqtIpl
https://dl.doubtnut.com/l/_uhTcaMJMBUNT
https://dl.doubtnut.com/l/_o8R8ZMc9Hx7v


12. Find the following limits : 

Watch Video Solution

lim
x → 1

{ }
x − 1

1
5

x − 1
1

100

13. Find the following limits : 

Watch Video Solution

lim
x → 3

{ }
x7 − 3

x8 − 3

14. Find the following limits : 

Watch Video Solution

lim
x → 0

{ }
√1 + x − 1

x

https://dl.doubtnut.com/l/_s2WBuHevXmqu
https://dl.doubtnut.com/l/_cjFVpZDsni6s
https://dl.doubtnut.com/l/_8C1dDKxGGF16


15. Find the following limits : 

Watch Video Solution

lim
x → 0

{ }
(x + 1)5 − 1

x

16. Find the value of 

Watch Video Solution

lim
x → 0

ex − e − x

x

17. Find  where 

Watch Video Solution

lim
x → 1

f(x) f(x) = {
x ≠ 1

1 x = 1

x2 − 1

x − 1

18. 

Watch Video Solution

lim
x → 2

√3 − x − 1

2 − x

https://dl.doubtnut.com/l/_NDZ7GA4zd6tb
https://dl.doubtnut.com/l/_7ToEOnpl2tnE
https://dl.doubtnut.com/l/_IVbGtDLqX3RZ
https://dl.doubtnut.com/l/_DWghBEPhtaPj


19. 

Watch Video Solution

lim
x → 3

√12 − x − x

√6 + x − 3

20. 

Watch Video Solution

lim
x → 0

sin 3x

x

21. The value of  is

Watch Video Solution

lim
x → 0

1 − cos x

2x2

22. Evaluate:


W t h Vid S l ti

(lim)
x

→
π

2

1 + cos 2x

(π − 2x)2

https://dl.doubtnut.com/l/_DWghBEPhtaPj
https://dl.doubtnut.com/l/_lrJnvh8xScvw
https://dl.doubtnut.com/l/_RIpwDTUQP2Bp
https://dl.doubtnut.com/l/_wFp8QYkrtKpy
https://dl.doubtnut.com/l/_7RoNlfw3dcXy


Watch Video Solution

23. Proved that 

Watch Video Solution

lim
x → 0

= 1
tan x

x

24. Find 

Watch Video Solution

lim
x → π

sin(x − π)

(π(π − x)}

25. Find  where f(x) = 

Watch Video Solution

lim
x → 0

f(x) {
2x + 3 x ≤ 0

3(x + 1) x > 0

https://dl.doubtnut.com/l/_7RoNlfw3dcXy
https://dl.doubtnut.com/l/_2NqNResOUTdH
https://dl.doubtnut.com/l/_39BRHvZ5WmmG
https://dl.doubtnut.com/l/_sSgFPOyk7wcr


26. Evaluate , where 

Watch Video Solution

lim
x → 0

f(x)

27. Suppose  and if ,

what are the values of 

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

a + bx x < 1

4 x = 1

b − ax x > 1

lim
x → 1

f(x) = f(1)

a and b?

28. If the function f(x) satisfies 

evaluate 

( lim )x → 1 = π,
f(x) − 2

x2 − 1

( lim )x → 1f(x)

https://dl.doubtnut.com/l/_FdbYaM4tmcIN
https://dl.doubtnut.com/l/_96ifZIkJxOtM
https://dl.doubtnut.com/l/_0SdN4f7Cl6rG


Watch Video Solution

29. Evaluate the following limits : 

Watch Video Solution

lim
x → 1

{2(x + 3) + 7}

30. Evaluate the following limits : 

Watch Video Solution

lim
x → 1

(3x + 1)(x + 1)

31. Evaluate the following limits : 

Watch Video Solution

lim
x → − 1

x + 1

x + 2

https://dl.doubtnut.com/l/_0SdN4f7Cl6rG
https://dl.doubtnut.com/l/_hKAqnK0RDcsf
https://dl.doubtnut.com/l/_f5ee8vCB6dH5
https://dl.doubtnut.com/l/_pcDIhiBi0v5a


32. Evaluate the following limits : 

Watch Video Solution

lim
x → 0

px + q

ax + b

33. 

Watch Video Solution

lim
x → − 2

+1
x

1
2

x + 2

34. Evaluate the following limits: 

Watch Video Solution

lim
x → − 2

( )
x2 − 25
x − 5

https://dl.doubtnut.com/l/_mtfYeBR5Ne1x
https://dl.doubtnut.com/l/_SbYrb4yk8cbY
https://dl.doubtnut.com/l/_0bt63GdU9DAg


35. Evaluate the following limits : 

Watch Video Solution

lim
x → 1

3

9x2 − 1

3x − 1

36. Evaluate the following limits : 

Watch Video Solution

lim
x → 2

x2 − x − 2

x2 − 3x + 2

37. Evaluate the following limits : 

Watch Video Solution

lim
x → 1

[ − ]
1

x − 1

2

x2 − 1

https://dl.doubtnut.com/l/_xBHYQpCLQzFw
https://dl.doubtnut.com/l/_GxmDMVkp7cfF
https://dl.doubtnut.com/l/_8Thr6dUKjwzU


38. Evaluate the following limits : 

Watch Video Solution

lim
x → 2

√3x − 2 − x

2 − √6 − x

39. Evaluate the following limits : 

Watch Video Solution

lim
x → 0

x

5 − |x|

40. Evaluate the following limits : 

Watch Video Solution

lim
x → − 2

x11 − 1

x7 − 1

https://dl.doubtnut.com/l/_15umzBi4DnGo
https://dl.doubtnut.com/l/_k75zjtf7gKSm
https://dl.doubtnut.com/l/_WyBWqeEGwSD5


41. 

Watch Video Solution

( lim )x → 0

cos x

π − x

42. 

Watch Video Solution

( lim )x → 0

cos 2x − 1

cos x − 1

43. 

Watch Video Solution

lim
x → 0

sin ax + bx

ax + sin bx

44. 

Watch Video Solution

lim
x → 0

(cos ecx − cot x)

https://dl.doubtnut.com/l/_lmeMJqlFHfyd
https://dl.doubtnut.com/l/_M9ig1snvagzK
https://dl.doubtnut.com/l/_cozlSdnWVL8k
https://dl.doubtnut.com/l/_QWOWPRKLiNON
https://dl.doubtnut.com/l/_3XsazxGuOqfI


45. Evaluate the following limits : 

Watch Video Solution

lim
x → 1

x − 1
1
20

x − 1
1
40

46. 

Watch Video Solution

lim
x → 0

, a, b ≠ 0
sin ax

sin bx

47. Show that  does not exists.

Watch Video Solution

lim
x → 5

|x − 5|

x − 5

48. Find the value of 'a' such that  f(x) exists, where 
lim
x → 2

f(x) = {
ax + 5 x < 2

x − 1 x ≥ 2

https://dl.doubtnut.com/l/_3XsazxGuOqfI
https://dl.doubtnut.com/l/_Bfv4IH4jHQH1
https://dl.doubtnut.com/l/_55Gk7B5jcURk
https://dl.doubtnut.com/l/_d0HFCMYqRgsv


Watch Video Solution

49. If . For what integers  and 

 does  exist ?

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

mx2 + n, x < 0

nx + m, 0 ≤ x ≤ 1

nx3 + m, x > 1

m

n lim
x → 0

f(x)  and lim
x → 1

f(x)

https://dl.doubtnut.com/l/_d0HFCMYqRgsv
https://dl.doubtnut.com/l/_uei4IrOZeUsD

